AUSSIE SPARES DIAGRAM & PARTS LIST

AUSSIE GMP PUMPS: B3XR-A/X wiTH 7.5HP ELECTRIC MOTOR
CAT EAC6

FB97 6103 9065 9066 9222 F7139 F555 Electric Motor Complete 400/690 V - 8689 -

/ / F895
Canal ‘///r_
—— 6030
F845
\ 6802 RO72 R091 RO082 RO55 R059

R063

8185 D, | ‘

F862

5294 : :

FL76 _ m

F848

9533

F900
F135 6339 8436 6060 F158 6052 6300 ROS1 RO91 9483 gggg 8680 6306 7135 6241

Part . e Part i e
Number  Qty Description Retail price Number  Qty Description Retail price

6030 1 Flex. Gasket B 2587 $12 9066 2 Counterweight $65
6052 1 OR 133 (24.99x3.53) $13 9222 1 Stainless Steel Screw M6x20 $1
6060 1 OR 4625 (158.3x3,.53) $5 9533 7 Screw OEB M10x30 $10
6103 1 Check Valve B 2583/1 $78 F135 1 Conical Tap ¥4" Gas $22
6241 4 T.E. Screw M 10x30 $2 F158 4 Stainless Steel Screw M12x25 $11
6300 4 Hex. Head Bolt M12x40 $5 F476 1 NutM12x1.75 $14
6306 4 Hexagonal Nut M10x1.5 $7 F555 1 TapAISI 316 1"G $116
6339 1 Mech. Seal 25-47-14 $43 F739 1 Steel Nut M6x1 $7
6802 1 Pipe PEHD D.90 $8 F845 1 Support $1,099
7135 4 Washer 10x18x2 $4 F848 1 Stainless Steel Key B 6x6x20 $7
7218 4 Washer $1 F862 1 Stainless Steel Disc $168
8185 4  Torque Nut M5 A2 $4 F895 1 Pump Casing B3XR-A/X $7,387
8436 1 Counterface 26-57-7 $127 F897 1 Valve B3XR-A Stainless Steel 3” $1,715
8680 1 Base Elec. Motor $116 F900 1 3-Bl. Stainless Steel Impeller $1,891
8689 1 Motor 7.5HP — 400/690V. $3,036 H048 1 Washer D.12 5x36x3 $12
9065 1 Counterweight $47

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

All prices include GST GMP/JUN 10/1



